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«Ukpgnitwl» Jupdwpwlp thwliwl hwpgnyg dbkp phpphl uprGuwlylbpnG
k9 Juyugwo pwlwykip wpdwlugwo k n’y dhwyl UkjgqnikwbghGbpng, w)) Gub
Pwpbgnpomjubh qulwqubi JwpdwpwGlbpnlG hbn  qnpo  nlkgng  dbp
wqqujhGibpni npuypnpbub: Yp mbnkjuwlwbip pt UkjgnlhiwmGghlkpp «®pyklp
Utjgnltwlp» wlnwlnmwdo hpklg Yuypkohl ok wmbn wmwd GG Gwb
Uwpiwpw=h hnwguwligh Yuypkohl, npuykuqh hwdwmyhplbpp hbnbihG wyu Ghoyph
nip9 pugnimd puliwy EdhG:

Uhwe Ynndk Gruwmpwihny Uhwmily pwnuph dbkp pGpblpgnnGbpkG dwppui
Upy. EpfwubwGh wvnwmgwulp uvpmngun Gwmdwl] dp, np qupuihwp Ynunwy pk
wdbkiliniplp phGyyhuh mwqlwylbp wypph; vjuwe GG CwpbhgnpowlmGh Juuniwo
Jud PuplignpowlubGh htn juy sjnlikgng dbp JupdwpuwGibpp:

Buwpqbiih G Uppkth Mp. . {unnkdbud,

Uonmunpuytu wpwpt dp h ybp hbwmwppppmpbudp Yp  juppud
UtjgnGbwl Jupdwpuwbh juyuwlgnpbudp qpniwd qpmphiGGhpp: Mphnh mqth
dtigh phs dp6 wy wmbnkymppG wwy dp UhwnGih PwplignpowlumG UhnpbwG
«Ypuwlimp» Udkloptwy (wjpwmlyppwpml JupdwpwlhG dwupG UYjuo
Jupdwpulp pugnbtgur 1990h6G 10 wywlpnny npnlgdk dhip wlnpubhl quuwlp
wju nupngh wnwohl wpdwmGuqpniphelip nilikgnnG k: 1986h6G wqquyjhl pupbkpup
Mp. Ybp Uwlnybwl 600 hwqup wdbkphibwi wnpup gpibkg b wnnyg 5
wpnmuwjup hnquptpm qimbgun: Utp dko pwpblpwmpp dh pwlh wwph bwp
1.000.000 winjup Lo npibkg, G wyu wlquyd EGpp Junngnmbgun e wyn QEGphG
Junmgdwl qhGp pwpépugun 2.200.000.000 wnjuph: bnji dwdwlwl wbnnyG
doqnynipnG wy  dkppkl6 Gyuwop ppun GhrpwlwG hpdwunny: 3wonppuljwub
nwphGbipmG w)wlbpnlbpnG ppip pwpdpmgur 65h, puyg wjyu 15 wmwphlbpm
pGpugphl hnqupupémpbwG Jwpq dp vjuwy wbophGnpprGGpnt hhwnbimGpny
wjuop wpwljpmmpbwl pphip pGhun 29k PwpbgnpowluGh YhgpnGwljwG
Jupymphip wyu Gpyne wmwppbbipne ppugphG Uhwiijh dwuGwéhmh6 Gudwl
nuuplikg «nupngp qngbgk’p>» pubiny:

Wu nupnghG wwpbjubi owjuuG L 200.000 wnjup, YJunwyjwpniphilp
hipwpwbiship wpwljipmh hwdwp 4=5 hwqup mnpupp juh Jupbmp junljomgnod
I’pGL Gy wwnnp YhinfjuwpkG YhgpnGuwlwl Lwpgmppilp «puypngp qnglgk’p» §’pul:
b7 G5 npupht L, 5E°, nupng qnghjp, thnjuwGwl hwpgGlipne wbnngG Jupsmphwb pk
hGsn®L wpwybpmmpbwb phip sh pupdpuwbup: Gyu | wyjuopnuwb PwplignpowljubGh
(whuplwmpwd punupuwlulmphiip: Uhta Ynndk, tpk nhunbpne pppubp, UhwGijh
k9 {wiwqquyhlp i <wy Qupnnhlhk hwdw)lph wdkbGopbwy Jupdwpubibpki



hipwpwshipp wibjh pw6 200 wywlbkpunphiG nGh: UkiphGGipnG php hGsn® sh
pwpépwlup: 2p pwpdpwbluwp: G Junmwh LGp np whwh jpupdpwmbuy, Lpk wju
dnwymphGlbpp JwpniGuwlynihG: Uikjh wowe Mp. {uylupkl MigniGhwmG6 wy
qpwo  tp dkp UhwGih UYpbpuwlwp JwpdwpwGh  Juyulgnpbwdp, bLpp
UtjgnltwGh dwuphl nhwungmppG dp  YPplekp: UwdnyhG ok Jupnugh...:
Swphlbpny Pwpbgnpowlulip wojuwphwgppe dbp dognympnkl ShihnGGip wnwo
E phpptir Yl juwd Goippwumnuphi G wjuop gunwh k np wiknpny ppud jluy
nupngGipnii hwdwp nt qunbp qnghgk’p Y’pubb: Uwlunwly UkjgnGhwGh wku
htnhGwlunp bt Gulunp hwonmwnmpbwbG dp gupuquyhG: Uulhk Gop hwy
doqgnynipyp  PwpbgnpowubGh Yuwd GiwGophGwl dhre hwumwmnphilGbpm
p°Gswku Gnp JuuwylGhp whnh Junwhh, Uthhmpwhwy qupdwupuGibpn b Gopuoue:
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